
GSEB Class 9 Maths Sample Paper -Set 2 Answers 

Section - A 

1. 4𝑥𝑥2  +  14 +  8𝑥𝑥 –  16 +  7𝑥𝑥2 –  2𝑥𝑥

= 11𝑥𝑥2  +  6𝑥𝑥 − 2 

2. 4𝑥𝑥2  −  9𝑥𝑥 +  12 𝑎𝑎𝑎𝑎 𝑥𝑥 =  −1

=  4(−1)2  −  9(−1)  +  12 
= 4 +  9 +  12 =  25.  

3. 𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺 ∠𝑋𝑋 =  45∘,∠𝑌𝑌 =  75∘.
∠𝑋𝑋 +  ∠𝑌𝑌 +  ∠𝑍𝑍 =  180∘

45∘ +  75∘  +  ∠𝑍𝑍 =  180∘

120 ∘  + ∠𝑍𝑍 =  180∘

∠𝑍𝑍 =  180∘  −  120∘

∠𝑍𝑍 =  60∘

OR 

Area of an equilateral triangle =
√3
4

 𝑆𝑆2  

Side of the triangle =  15 𝑐𝑐𝑐𝑐 

Area of the triangle = 
√3
4

(15)2

= 
√3
4

 (225) 

Area of the equilateral  triangle =  97.4 𝑐𝑐𝑚𝑚2 

4. 3𝑥𝑥
4

 +  𝑥𝑥
2

=  5
8

3𝑥𝑥+2𝑥𝑥 
4

=  5
8

5𝑥𝑥
4

=  5
8

8 (5𝑥𝑥)  =  20  

𝑥𝑥 =  1
2

5. Range = max value - min value

Range = 786 –  45 =  741 
OR 
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Data : 23,76,85,49,33 
Arrange them in ascending order 
23,33,49,76,85  
Median =  49. 

 

6. Area of a triangle =  1
2

×  𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 ×  ℎ𝑒𝑒𝑒𝑒𝑒𝑒ℎ𝑡𝑡 

21 =  1
2

× 𝑏𝑏 ×  7  
42 =  7𝑏𝑏  
𝐵𝐵 = 42

7
 =  6 𝑐𝑐𝑐𝑐.  

Section –B 
 

7. If  
𝑥𝑥
4

 −  𝑥𝑥−3
6

 =  2 

3𝑥𝑥−2𝑥𝑥+6
12

 =  2  

𝑥𝑥 +  6 =  24  
𝑥𝑥 =  18  

OR 

𝑎𝑎
3

= 𝑏𝑏
4

= 𝑐𝑐
5

 =  𝑥𝑥  

Then 𝑎𝑎 =  3𝑥𝑥, 𝑏𝑏 = 4𝑥𝑥, 𝑐𝑐 =  5𝑥𝑥  

  𝑎𝑎+𝑏𝑏+𝑐𝑐
𝑎𝑎

 =  3𝑥𝑥 + 4𝑥𝑥 +5𝑥𝑥
3𝑥𝑥

 =  12𝑥𝑥
3𝑥𝑥

 =  4 

 
 

8.  95𝑥𝑥2𝑦𝑦 –  19𝑥𝑥2𝑦𝑦2 =  19𝑥𝑥2𝑦𝑦(5 − 𝑦𝑦) 

 

9. The points lie in 

a)  (−5,−6)   =  𝐼𝐼𝐼𝐼𝐼𝐼 𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄  

b) (7,9) =  𝐼𝐼 𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄  

c) (−3,6)  =  𝐼𝐼𝐼𝐼 𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄  

d) (4,9)  = 𝐼𝐼 𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄𝑄   

 

10. 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 𝑎𝑎𝑎𝑎𝑎𝑎 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥, we have 𝑃𝑃𝑃𝑃 ||𝑄𝑄𝑄𝑄 intersecting at 𝑂𝑂  
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𝐴𝐴𝐴𝐴𝐴𝐴 𝑄𝑄𝑄𝑄 intersects them.  

Hence by alternate angles,𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 =  𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 

Similarly, 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 =  𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 

 

11. 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 𝑜𝑜𝑜𝑜 𝑎𝑎 𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝 =  𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 ×  ℎ𝑒𝑒𝑒𝑒𝑒𝑒ℎ𝑡𝑡 

20 =  5 ×  ℎ  
𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻ℎ𝑡𝑡 =  4𝑐𝑐𝑐𝑐.  

OR 

Let the common ration between the angles be 𝑥𝑥. 
Sum of angles of a quadrilateral be 360∘. 
5𝑥𝑥 +  4𝑥𝑥 +  2𝑥𝑥 +  1𝑥𝑥 = 360∘.  
12𝑥𝑥 =  360∘.  
𝑋𝑋 = 30∘.  
The angles are 150∘, 120∘, 60∘, 30∘ 

 

12. Area of the trapezium 
 = 1

2
×  (𝑠𝑠𝑠𝑠𝑠𝑠 𝑜𝑜𝑜𝑜 𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝 𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠)  ×  (𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 𝑡𝑡ℎ𝑒𝑒𝑒𝑒) 

=  �1
2

 ×  (30 +  𝑥𝑥) ×  20�  𝑐𝑐𝑐𝑐2    

=   �1
2

 ×  (600 + 20 𝑥𝑥)�  𝑐𝑐𝑐𝑐2  
840 =  300 +  10𝑥𝑥  
10𝑥𝑥 =  840 –  300  
10𝑥𝑥 =  540  
𝑥𝑥 =  54.  

 
 

Section – C  

13. (512)
2
3×(1296)

3
4

(32)
3
5  × (25)

3
2 × (225)

1
2
  

=  (8)(3)23 × (6)(4)34

(2)(5)35 × (5)(2)32 ×(5)(2)1 
2
  

=  (8)(2) × (6)(3)

(2)(3) × (5)(3) × 5 
  

=  64 ×216
8  × 125 × 5 

  

=  1728
625
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14. By using factor theorem, (𝑥𝑥 − 2) is a factor only when 𝑝𝑝(2)  =  0 

 𝑝𝑝(2) =  24 –  2(2)2 –  5(2) +  2  

=  16 –  8 − 10 +  2   

=  0.  

 

15. In parallelogram ABCD, AD is produced to E and BE is joined such that BE intersects CD at F. 
 Now, in ΔABE and ΔCFB 
∠𝐵𝐵𝐵𝐵𝐵𝐵 =  ∠𝐹𝐹𝐹𝐹𝐹𝐹 because opposite angles of a parallelogram are always equal 
∠𝐴𝐴𝐴𝐴𝐴𝐴 =  ∠𝐶𝐶𝐶𝐶𝐶𝐶 because of parallel sides 
 
 Now, using 𝐴𝐴𝐴𝐴 similarity, we have 
𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 ~  𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥.  
 Hence proved. 
  

OR 
Given ∠𝑄𝑄 < ∠𝑅𝑅,  
Hence ∠𝑅𝑅 > ∠𝑄𝑄 
Therefore 𝑂𝑂𝑂𝑂 >  𝑂𝑂𝑂𝑂  …(1) 
Similarly, 𝑂𝑂𝑂𝑂 >  𝑂𝑂𝑂𝑂  ….(2) 
 From (1) and (2), we have (𝑂𝑂𝑂𝑂 +  𝑂𝑂𝑂𝑂)  >  (𝑂𝑂𝑂𝑂 +  𝑂𝑂𝑂𝑂) 
𝑄𝑄𝑄𝑄 > 𝑃𝑃𝑃𝑃 𝑜𝑜𝑜𝑜 𝑃𝑃𝑃𝑃 <  𝑄𝑄𝑄𝑄  
 
   
16. (i) 𝑓𝑓(2)  =  𝑥𝑥3  − 3𝑥𝑥2 + 𝑘𝑘𝑘𝑘 − 2 
        𝑓𝑓(2)  =  23 − 3(2)2 + 𝑘𝑘(2) − 2    
       0 =  8 − 12 + 2𝑘𝑘 − 2  
      0 =  2𝑘𝑘 − 6  
      𝐾𝐾 = 3  
(ii) 𝑓𝑓(𝑥𝑥)  =  2𝑥𝑥3 − 𝑘𝑘𝑥𝑥2 − 5𝑥𝑥 + 6  
    𝑓𝑓(2)  =  2(2)3 − 𝑘𝑘(2)2 − 5(2) + 6 
    0 =  16 –  4𝑘𝑘 − 10 + 6  
    0 =  12 − 4𝑘𝑘  
    𝐾𝐾 = 3  
 
 
17. PS is the perpendicular bisector of 𝑄𝑄𝑄𝑄, hence 𝑄𝑄𝑄𝑄 =  𝑆𝑆𝑆𝑆. 

In 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 =  𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 

 𝑃𝑃𝑃𝑃 = 𝑃𝑃𝑃𝑃 

∠𝑃𝑃𝑃𝑃𝑃𝑃 = ∠𝑃𝑃𝑃𝑃𝑃𝑃 = 90ᵒ since 𝑃𝑃𝑃𝑃 is the perpendicular bisector of 𝑄𝑄𝑄𝑄. 
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By 𝑆𝑆𝑆𝑆𝑆𝑆 Criteria, 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 =  𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥. Their corresponding parts are equal. 

𝑃𝑃𝑃𝑃 =  𝑃𝑃𝑃𝑃. Thus 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 is an isosceles triangle. 

 

18. 𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇 𝑛𝑛𝑛𝑛 𝑜𝑜𝑜𝑜 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏  =  16 

      No of ways of drawing two balls out of 16 =  𝐶𝐶 16
2 = 16×15

2
 =  120. 

     Let A be the event of drawing two balls of same colour, 𝑛𝑛(𝐴𝐴)  = 𝐶𝐶 8 2 +  8 𝐶𝐶2
 =  2 × 8 × 7

2
   = 56 

    𝑃𝑃(𝐸𝐸) = 𝑛𝑛(𝐸𝐸)
𝑛𝑛(𝑆𝑆)   = 56

120
 = 7

15
  

 
 
19. 𝐼𝐼𝐼𝐼 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 𝑎𝑎𝑎𝑎𝑎𝑎 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 
 AB
QR

 =  2
4

 =  1
2
   

BC
RP

 =  2.5
5

 = 1
2
  

CA
PQ

 =  3
6

 =  1
2
  

Hence
AB
QR

 = BC
RP

 = CA
PQ

 

Using 𝑆𝑆𝑆𝑆𝑆𝑆 Similarity𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥 is similar to 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥. 
OR 

 
𝐼𝐼𝐼𝐼 𝛥𝛥𝛥𝛥𝛥𝛥𝛥𝛥,∠𝐵𝐵 =  90ᵒ.  
M is the midpoint of 𝐴𝐴𝐴𝐴 and 𝑂𝑂𝑂𝑂 is parallel to 𝐵𝐵𝐵𝐵 
According to converse of midpoint theorem, 𝑂𝑂 is the midpoint of 𝐴𝐴𝐴𝐴. 
Because the line 𝑂𝑂𝑂𝑂 is parallel to 𝐵𝐵𝐵𝐵 and 𝑀𝑀 is the midpoint of 𝐴𝐴𝐴𝐴, so 𝑂𝑂 is definitely the midpoint of 
𝐴𝐴𝐴𝐴. 
 
20. 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 is a rhombus, consecutive angles ∠𝐵𝐵𝐵𝐵𝐵𝐵 𝑎𝑎𝑎𝑎𝑎𝑎 ∠𝐴𝐴𝐴𝐴𝐴𝐴 are supplementary. 
So ∠𝐴𝐴𝐴𝐴𝐴𝐴 +  ∠𝐵𝐵𝐵𝐵𝐵𝐵 =  180° 
 ∠𝐵𝐵𝐵𝐵𝐵𝐵 =  124° 
∠𝐴𝐴𝐴𝐴𝐴𝐴 +  124° =  180°  
 ∠𝐴𝐴𝐴𝐴𝐴𝐴 =  56°. 
A diagonal of a rhombus bisects the angles at its endpoints. 
So ∠𝐴𝐴𝐴𝐴𝐴𝐴 =  28o 
 
 
21. Let the inner radius be r metres. 

2𝜋𝜋𝜋𝜋 =  660,   

𝑟𝑟 =  660
2𝜋𝜋 =  105𝑚𝑚  

Radius of outer circle =  105 +  20 =  125 𝑚𝑚 
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OR 
 
 

Let the base of the parallelogram be 𝑎𝑎, and height be 2𝑎𝑎. 

𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 𝑜𝑜𝑜𝑜 𝑡𝑡ℎ𝑒𝑒 𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝 =  𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 ×  ℎ𝑒𝑒𝑒𝑒𝑒𝑒ℎ𝑡𝑡 =  𝑎𝑎 ×  2𝑎𝑎 =  2𝑎𝑎2   

Area of the parallelogram =  50 

50 =  2𝑎𝑎2   

25 =  𝑎𝑎2   

𝑎𝑎 =  5, hence 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 =  5𝑐𝑐𝑐𝑐, ℎ𝑒𝑒𝑒𝑒𝑒𝑒ℎ𝑡𝑡 =  5 × 2 =  10 𝑐𝑐𝑐𝑐. 

22. (i) 
 

 
 
 
(ii) Mean =  65 + 75 + 85 + 80 + 95

5
   = 80. 

 
OR 

 
(i) 
 

Test marks 
obtained 

No of students (frequency) 

03 1 
09 1 
12 3 
13 1 
22 3 
33 1 
36 1 
40 2 
54 3 

0

20

40

60

80

100

Hari Raja Mahesh Ganesh Karthick
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66 2 
78 1 
96 1 

 
ii) Range =  96 −  3 =  93. 

 
SECTION – D 

 
23. The value of  

1
3

 +  
1
2

 + 1
4

+  1
6

  +  1
12

+ 1
24

 

→ 1
3

 + 1
2

 + 1
4

+ 1
6   + 1

12 + 1
24  

=  
8 + 12 + 6 + 4 + 2 + 1  

24   

 =  33
24

  

=  11
8

. 

 
              

24. Postulate 1: A straight line can be drawn from any point to another point 
Postulate 2: A terminated line can be further produced indefinitely. 
 
 
25. (𝑥𝑥 +  𝑦𝑦)2  =  𝑥𝑥2   +  𝑦𝑦2  +  2𝑥𝑥𝑥𝑥   
(𝑥𝑥 +  𝑦𝑦)2 =  117 +  2(54)  
(𝑥𝑥 +  𝑦𝑦)2 =  225  
𝑥𝑥 +  𝑦𝑦 =  15  → (1)  

 
(𝑥𝑥 −  𝑦𝑦)2  =  𝑥𝑥2  +  𝑦𝑦2  −  2𝑥𝑥𝑥𝑥   
(𝑥𝑥 −  𝑦𝑦)2 =  117 −  2(54)  
(𝑥𝑥 −  𝑦𝑦)2 =  9  
𝑥𝑥 − + 𝑦𝑦 =  3  → (2)  
 
𝑥𝑥 −𝑦𝑦

𝑥𝑥+𝑦𝑦
 = 3

15
 = 1

5
  

  
OR 

3
4
�1 + 1

3
�  �1 + 2

3
�  �1 − 2

5
� �1 +  6

7
�  �1 − 12

13
�  

 =  3
4

 ×  4
3

×  5
3

 ×  3
5

 × 13
7

 × 1
13

  

=  1
7
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26. We know that sum of exterior angles of a polygon = 360^° 

 ∴  125°  + 125°  + 𝑥𝑥°  =  360° 

⇒  250°  + 𝑥𝑥°  =  360°  
⇒  𝑥𝑥°   =  360° – 250°  
⇒  𝑥𝑥°  =  110°  

 
 
27. Surface area of cube =  6 ×  52 =  150 𝑠𝑠𝑠𝑠. 𝑓𝑓𝑓𝑓 

Quantity of paint required = 150
10

  =  15𝐾𝐾𝐾𝐾. 

Cost of 15 Kg of paint =  15 × 50 =  𝑅𝑅𝑅𝑅. 750 

OR 

𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉 𝑜𝑜𝑜𝑜 𝑡𝑡ℎ𝑒𝑒 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡 =  𝜋𝜋 × 𝑟𝑟2 × ℎ   

2512 =  𝜋𝜋 × 𝑟𝑟2 × 8  

𝑟𝑟2  =  2512
25.12

  

𝑟𝑟2 = 100, 𝑟𝑟 = 10𝑚𝑚.  

Diameter of the tank =  10 ×  2 =  20𝑚𝑚. 

 

28. We have 𝐴𝐴𝐴𝐴 =  3.9 𝑐𝑐𝑐𝑐, 𝐷𝐷𝐷𝐷 =  3 𝑐𝑐𝑐𝑐,𝐴𝐴𝐴𝐴 =  3.6 𝑐𝑐𝑐𝑐, 𝐸𝐸𝐸𝐸 =  2.4 𝑐𝑐𝑐𝑐. 

𝐹𝐹𝐹𝐹𝐹𝐹 𝐷𝐷𝐷𝐷 || 𝑡𝑡𝑡𝑡 𝐵𝐵𝐵𝐵,  

𝐴𝐴𝐴𝐴
𝐷𝐷𝐷𝐷

 = 3.9
3

 =  1.3 𝑐𝑐𝑐𝑐  

𝐴𝐴𝐴𝐴
𝐸𝐸𝐸𝐸

 = 3.6
2.4

= 3
2

 𝑐𝑐𝑐𝑐  

𝐴𝐴𝐴𝐴
𝐷𝐷𝐷𝐷

≠ 𝐴𝐴𝐴𝐴
𝐸𝐸𝐸𝐸

.  

Hence𝐷𝐷𝐷𝐷 𝑖𝑖𝑖𝑖 𝑛𝑛𝑛𝑛𝑛𝑛 || 𝑡𝑡𝑡𝑡 𝐵𝐵𝐵𝐵. 
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�20
2
�
2

=  𝑟𝑟2   +  �10
2
�
2
𝑟𝑟2 =   �20

2
�
2
−  �10

2
�
2

  

𝑟𝑟2   =   ( 10 )2  −  ( 5 )2    

𝑟𝑟2   =   75 = 8.66 𝑐𝑐𝑐𝑐  

 

OR 
 
Circumference of a circle 2𝜋𝜋𝜋𝜋 
Radius of the circle =  𝑟𝑟 
Given 2𝜋𝜋𝜋𝜋 –  𝑟𝑟 =  42𝑐𝑐𝑐𝑐 
𝑟𝑟(2𝜋𝜋 −  1)  = 42  
𝑟𝑟 = 42

5.28
  

𝑟𝑟 =  8.  
Area of the circle =  𝜋𝜋𝑟𝑟2  =  𝜋𝜋 ×  8 ×  8 =  201 𝑐𝑐𝑚𝑚2 

 
 

30. Substitute 𝑥𝑥 =  1,    
3(1)  +  𝑦𝑦 =  2  
𝑦𝑦 =  2 –  3  
 𝑦𝑦 =  −1  
 
Substitute 𝑥𝑥 =  2,    
3(2)  +  𝑦𝑦 =  2  
𝑦𝑦 =  2 −  6,  
 𝑦𝑦 =  −4  
 
Substitute 𝑥𝑥 =  3,  
3(3)  +  𝑦𝑦 =  2  
𝑦𝑦 =  2 −  9,   
𝑦𝑦 =  −7  
 
Substitute 𝑥𝑥 =  4, 
3(4)  +  𝑦𝑦 =  2  
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𝑦𝑦 =  2 −  12,   
𝑦𝑦 =  −10  
 
The three solutions of the given equation are  
1.𝑎𝑎𝑎𝑎 𝑥𝑥 =  1,𝑦𝑦 =  −1 (𝑖𝑖. 𝑒𝑒. ) 𝐴𝐴(1,−1)  
2.𝑎𝑎𝑎𝑎 𝑥𝑥 =  2,𝑦𝑦 =   −4 (𝑖𝑖. 𝑒𝑒. ) 𝐵𝐵(2,−4)  
3.𝑎𝑎𝑎𝑎 𝑥𝑥 =  3,𝑦𝑦 =  −7 (𝑖𝑖. 𝑒𝑒. ) 𝐶𝐶(3,−7)  
4.𝑎𝑎𝑎𝑎 𝑥𝑥 =  4,𝑦𝑦 =  −10 (𝑖𝑖. 𝑒𝑒. ) 𝐷𝐷(4,−10)  
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